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SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e

Z Ml 20,041,421 23,189,890 A3,148,469

= 46,964
= 200,000
& 351,939
= 19,442,518
HE2AZU (FHM)(IIEH/DIE) 56,625 46,986 9,639
Jl2&Hl 56,625 46,986 9,639
Jl=2& | 56,625 46,986 9,639
201 Bt A | 24,180 16,504 7,676
01 AR 2teld| 22,380 14,704 7,676
Oget=gH| 17,340,000& 17,340
O=gl 7,000 «15H +541%0.8+ 123 5,040
02 S=2gHl 1,800 1,800 0
O332= & AMA 1,800,000& 1,800
202 (4l 29,445 27,482 1,963
01 =2 AbI 29,445 27,482 1,963
ORMEZZE JI2gRF8 ¢l 23,760,000& 23,760
OBAHI(ATS &N )
75,8003 x 15 5 5,685
203 ¢ F =&l 3,000 3,000 0
04 EN2ITRFLH 3,000 3,000 0
O HeYR RN (ZH15010/5)
250,000& «12& 3,000
nEdy A (+SLLE/HENS - 2 FSIIE) 6,161,964 7,993,817 A 1,831,853
= 243,249
= 5,918,715
NS 2EH 5,789,353 7,597,901 A 1,808,548
L= 243,249
= 5,546,104
gHAcsd, OtEHAs 2SXA 740,753 842,025 A101,272
L= 191,849
i 548,904
307 21zZtol 727,753 842,025 A114,272
& 191,849
= 535,904
02 Sl2tF a8 = 727,753 842,025 A114,272
Od¥Xcd £AEX3(E=2H) 528,753,000 528,753
= 146,849
= 381,904
OnlZHASY Zao BX3
6,000,000 *1CH*43] 24,000
Os0E HARE MEXH (2500 =)
175,000, 000& 175,000
& 45,000
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SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 130,000
402 212 XH2 01 & 13,000 0 13,000
01 DIZHRIRBE 3,000 0 13,000
OHMAEDIY AlZ =2 10,000,0002 13l 10,000
O/IEE HOIAIARA A& KB4
3,000,00021*13] 3,000
S+ N 4,900,000 6,707,456 ~1,807,456
307 2I2H0| 4,900,000 6,707,456 ~1,807,456
09 24AHNSEZ 4,900,000 6,700,000 1,800,000
OS24+ R 4,900,000
L =LIES 300,0002 * 10« 122 3,600
— Bt A 100,000 *32CH 122 38,400
LN 100, 0002 *48CH 122 57,600
—S0iEHA 800, 00021 +7CH* 122 67,200
g8 478,10121 x8250H 122 4,733,200
DEYY AP2Y X 32,600 48,420 £15,820
= 13,400
2 19,200
101 Q1248 19,200 16,720 2,480
= 13,400
2 5,800
VEIETEEPIEIEPS 19,200 6,720 2,480
HX e DEFEAR Q1Y)
40,0002 602 *42 #25] 19,200
= 13,400
2 5,800
201 YEr2gY| 9,900 6,100 3,800
01 At 22| H| 8,900 6,100 2,800
OHZNSSHIE 840 L 222 X
50,0002 +2 130 1,300
OMUBE It DXA ADE
2,000,0002! 2,000
ONSSHYLET S04
7,00021 *42§ 1002 2,800
ORSAHIMAISAE 2P+
70,0002 ¥10% x23] 1,400
ONSANOSHAZHAAE 2Y4+Y
70,0002 102 *23] 1,400
03 A2 b 1,000 0 1,000
OR2 DEAM SAMBY IS 500,008 23] 1,000
202 04t 3,500 3,500 0
01 20l ] 3,500 3,500 0
OgY = FX NTos S0/
3,500,0002! 3,500
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Egussd 2SN 116,000 0 116,000
L= 38,000
= 78,000
307 2IZtol ™ 40,000 0 40,000
05 BIZtREZ 40,000 0 40,000
OSEnsSHH(EH SHAl) 24
10,000, 000& 4 CH 40,000
405 KtatE =S| 76,000 0 76,000
& 38,000
= 38,000
01 XML EEHSHI 76,000 0 76,000
OSEnsStH(Z0H SHA) P2
38,000,000& +2CH 76,000
L= 38,000
i 38,000
WECHHAILEZE &5 372,611 395,916 223,305
WSCOHMAIE &XI 271,936 293,096 221,160
401 A& HIZ 2 CHYI 271,936 293,096 221,160
01 A& HI 271,000 291,000 220,000
OuEdzll FANE= 550,000& *307H £ 16,500
OZEs B= 500,000 * 1090 & 5,000
OZEs uA 5,000, 000& 24 2 10,000
QusSotdHEXE &X 200, 000& *5074 2~ 10,000
OBtALE &XI 350, 000& * 1074 2 3,500
OZUIRESAIE)EXH X
250, 000& 2004 2~ 5,000
S2HEXNE &X 55,0003 » 10074 2= 5,500
Ot wEetdEXE W 150,000 5004 2 7,500
OxdrusES £ 80,0003 * 10070 & 8,000
Oogod = HA 60,000,000 * 14! 60,000
OHA 20152 & 4X1 10,000,000 * 1370 £ 130,000
O0Is2E RAE= 10,000,000& 10,000
03 Al€ 2 01| 936 2,096 21,160
OusetEAlE X A&
130,000,000& *0.72/100 936
=Xt 68,895 71,040 A2,145
101 21 24H| 54,815 13,040 41,775
04 JItHI22XSE+ 54,815 13,040 41,775
OFxBe SHASY 015
6,690 »1H +340 12,475
O=&8X Nt 212 36,6003 »3H +340 37,424
o428 = 49,899, 000& *0.0985 4,916
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5,000, 0002 =14 5,000
OF X (CCTV) MALEHl &HI=2
30,000 +3CH*12& 1,080
401 A& HIZ 20HYI 8,000 53,000 A 45,000
01 A& HI 8,000 53,000 245,000
O=F=Xd &M 1,000, 000 *4 . 5km 4,500
O0lHEZ =Xt &M 1,000,000 *3.5km 3,500
Wsotd 4229 X 31,780 31,780 0
201 Ler2g | 31,780 31,780 0
01 At 2teltl 2,300 2,300 0
OREABNY AEH, 2D Y 22 WO
Ol & 3002 *3&+1,0000H 900
O=EXsX 7Y SHHEX & &X
70,000 200 2~ 1,400
02 332l 29,480 29,480 0
OuWsota IS L A&l
40,0003 x12& 480
OusSitssS M)l AEFH =5
5,000,000 *13| 5,000
ORE - =8X WHE DN S8 fE=
2,000,000& =12& 24,000
ANAa RS (MY - SAI/aL - 40| HLb 1,138,224 2,127,433 A 989,209
= 46,964
= 200,000
= 108,690
= 782,570
EAILSH(BLAIIERLEIIZSLESAH) 90,000 90,000 0
JI2EA OIXMENEZ 90,000 90,000 0
307 S12H0| & 90,000 90,000 0
08 OIXtEHZ 90,000 90,000 0
OsAIIEEHII=s sXiz 0NEdS
3,000, 000,000 *3/100 90,000
SoE & MSAE 435 985, 124 1,930,833 A945,709
= 46,964
& 200,000
& 103,890
= 634,270
SItety 2te| 31,269 20,557 10,712
101 21244l 10,055 10,055 0
04 J12HH 22 NS ES 10,055 10,055 0
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418,920& x2H «12& 10,055
201 82| 15,060 4,900 10, 160
01 At22t2|dl 11,550 4,900 6,650
O2JHtH 29 70,0003 *x15YH +x23| 2,100
O=2t¢t =22 M
50,000& *130H=H 650
OaHIX 2H SN 2
200& *15+1,0000H 200
O ZFAE)
1,600,000& 1,600
OH DI 7,000,000& =14 7,000
02 22298 3,510 0 3,510
Oos3=2 Y% 1,110
—Ats 280,000& = 1CH 280
—As 830,000& = 1CH 830
OXtER 200,000& x12& 2,400
206 M=t 1,654 1,102 552
01 THE I 1,654 1,102 552
ONSHNE F Al ¢ 1,304
—F ez 1,900 %240 A %2 4 63| 548
—4d% 1,750& %240 - %3 4 63| 756
O&KHE A MEMF 2D 2
3,500 100 *13] 350
307 212+01 & 4,500 4,500 0
02 QIZtEAMNE X 4,500 4,500 0
O2JIotd AL MYDIE8& FH X
350 * 10000 *30IH A~ *23] 2,100
O2Iots YA Axreza K&
40,000& 304 A~ *23| 2,400
EAS Y Xl 5,400 5,400 0
301 LB A 1,400 1,400 0
10 & AFA!H] 1,400 1,400 0
O&SA rets AL 24t
70,0003 x5 23] 700
O3W= b 24 70,0003 *5H *23] 700
307 @12+01 & 4,000 4,000 0
02 Q12+ & 4,000 4,000 0
O30Z3 =
2,000,000 *20 & Al 4,000
ol MSAE 221,670 624,580 402,910
& 15,840
- 205,830
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SR SIIHE U MSAIE 2435 SR
SN HB SR (BIH) - A - B S 0l &b S D=2
- - T - = S = (O = 0:”/&,% VSso
307 2I12t0| & 47,200 20,800 26,400
[= 15,840
z 31,360
02 QIZtH AR X 37,200 10,800 26,400
QS HAIZE OIHOIE S22l (ALAILES)
500,000% * 122 6,000
OSHAIE X HA U X2
4,800,000 * 190 A 4,800
OFSAI B S MHIAAY
1,100,000 * 129 x2H 26,400
[= 15,840
= 10,560
04 QIZHEHALE X 10,000 10,000 0
OLAAMEAZE EOISEM AL XA
10,000,000 *1JH A *13] 10,000
401 Al 2 H| 22 0HY 174,470 603,780 A429,310
01 Al &t 170,000 600,000 430,000
OO PMEAZ ANLSHUSAIY
150,000, 0002 14l 150,000
QSIAMEAZR AN HAAS
20,000,000 * 14! 20,000
02 el 3,390 0 3,390
O BHEAIR AMBEUEIAIS 22/
150,000, 000 2. 26/100 3,390
03 Al& 20t 1,080 3,780 A2,700
OCBMEAIE ASSUSAIY AlLL2OHY
150,000, 00024 *0.72/100 1,080
22l MNSAIE 2435 450,480 708,446 A257,966
2 200,000
= 250,480
201 LBt A | 4,400 4,400 0
02 22 =29H| 4,400 4,400 0
QAlEH 22 A2 HotX A 2 R22)
2,200,000 *2J A x13] 4,400
307 2I12+0| & 16,000 16,000 0
02 QIZHH AR X 6,000 6,000 0
OAIBAIE OFHIOIE SR (ABAIES)
500,0002 *12& 6,000
04 QIZHEH AL X 10,000 10,000 0
OAIBHAIZ BIDIS S M #AH X
10,000,000 * 10 A *13] 10,000
401 Al & H 2204y 430,080 688,046 A257,966
2 200,000
2 230,080
01 Al&dH] 420,000 674,000 A254,000
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SA BB H(BH) - MBAY - B2 Ofl &+ 04 il b o HRs2
OMBAIE &E &3 20,000,000 *14] 20,000
OAIBEAIE OFHOIS AX|  400,000,0008 *14] 400,000
3 200,000
2 200,000
02 2t21H| 7,560 9,529 A1,969
OAIEFAIR OIHOIS MX 22l
400,000,0002 *1.89/100 7,560
03 Al& 2 CHY| 2,520 4,517 A1,997
OAEFAIR OIHOIS HX Al&STE)
400,000,0002 %0.63/100 2,520
su Aex 75,805 3,600 72,205
3 46,964
= 4,050
2 24,791
202 018 3,600 3,600 0
01 2LH0i bl 3,600 3,600 0
Osapz 2EA 0fH|
20,0002 32§ ¥52 128 3,600
401 Al EBIL 2 OB 72,205 0 72,205
2 46,964
= 4,050
2 21,191
01 Al&H| 72,205 0 72,205
OXAPIHE AL N ALY
199, 0002 2957} 72 58,705
2 46,964
2 1,741
OXAIHE HIIAIE HEAIY
10,0002 1357t 72 13,500
= 4,050
2 9,450
MTHA I 22AL 200,500 568,250 A367,750
= 84,000
2 116,500
402 Q12+ XH20| 200,500 126,000 74,500
= 84,000
2 116,500
MR ETES 200,500 126,000 74,500
OO2lE 22 A 21,000,000 *40S*20/100 168,000
= 84,000
2 84,000
OENQY 247 BIA  2,500,0002 137t 72 32,500
EAIUSY N 22,500 27,000 A4,500
= 3,000
2 19,500
SUSXTE A 1,000 1,000 0
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= T dEE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot HusZ
203 H Rl 1,000 1,000 0
03 AR FAH 2= 1,000 1,000 0
OsXIIE=Ed 2AEal 20,0003 x25H »23] 1,000
JIHXNEHE=2S 11,000 11,000 0
201 L2 7,000 7,000 0
01 AtR2tel 5,000 5,000 0
OJIZXNE Ler=2ad| 5,000,000& 5,000
03 A2 & 2,000 2,000 0
OJIgHM HEX 2HE3l =
20,0003 x50 +22] 2,000
202 o4 Hl 3,000 3,000 0
01 SLHAObI 3,000 3,000 0
OJIgX& ¥ AAHTEE HRFA 0l
20,0003 *3H *50 3,000
203 2= 1,000 1,000 0
03 Al =&AL =& 1,000 1,000 0
OFN=X 2= 20,0002 *10& «53] 1,000
NEEXZ N& 10,500 15,000 A4,500
= 3,000
= 7,500
307 212+01 o 10,500 0 10,500
< 3,000
= 7,500
02 QlZtH AL X 10,500 0 10,500
OFZIIZE dr18ed 2x= K&
500,000 *3.5% 6 10,500
= 3,000
= 7,500
lEMEEs = 40,600 79,600 239,000
e 1,800
= 38,800
SlFANEAZH THH 35,000 35,000 0
201 gEt=24Ed| 35,000 35,000 0
01 A2 2telH] 35,000 32,000 3,000
OUZd Fgx==2 200& %60, 000 0K 12,000
o4sd 2ENE MAE 300& +«2Z+2,0000H 1,200
Oa3d Mz & 200, 00001 *100& 20,000
Od=d BilE S5 M 150& 12, 0000H 1,800
SHAIZ =& 5,600 44,600 239,000
S 1,800
= 3,800
201 L2 3,600 2,600 1,000




SA: AR
A MR WE(MY - BAIQ/AY - BAIAAL)
2

ool AYALRE =X (S92
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
< 1,800
2 1,800
03 A2t 3,600 2,600 1,000
oA NS 3,600, 0002 3,600
= 1,800
2 1,800
203 &R = H| 2,000 2,000 0
03 Al ERY L =X Y| 2,000 2,000 0
OYMABAR = 20,0002 * 10% 103l 2,000
APRIDIBIAIA SHE(REL X AL /AT 519,251 1,064,965 545,714
STEX X4 2 SH(SZTNPXILALSLH) 519,251 1,064,965 545,714
SBUXNALE NS 503,601 1,030,815 A527,214
101 Q1244 46,137 19,175 26,962
VIERTEEPE=TRS 46,137 19,175 26,962
OsZALX FHl o=y
35,0008 * 128§ x2024 #57H £+ X| 42,000
odEEE 42,000,00021+0.0985 4,137
201 L2 Y| 4,800 4,800 0
02 ZZ2H| 4,800 4,800 0
O=ZSX A&S S|
30,0002 * 1055 #4 7} 2 43l 4,800
401 A2 HIL ST 452,664 1,006,840 554,176
01 Al &bl 450,000 1,000,000 550,000
OSZTEX AlES 24 30,000,008 *4H 2 120,000
ORYSZURBANRA 222
250,000, 000! +14! 250,000
OXot+ ¥g Bl 8 80,000, 0002 80,000
03 Al& S CHY| 2,664 6,840 A4,176
OSZEUX NS4 ALRHY
120,000, 0002 x0.72/100 864
ORYSTHNBARA 22U A2
250,000,0002!+0.72/ 100 1,800
S2EN2Y N 15,650 34, 150 ~18,500
201 L2 Y| 10,650 29, 150 A 18,500
01 ALR 2l 10,650 19,150 8,500
OSZTEX ARl HIE 7Y
100,0002! *15Z*53| 7,500
OSTUXNEL U H2lYP S2OHAY|
7,000%! +5% *902 3,150
202 01t 5,000 5,000 0
01 2LHOI I 5,000 5,000 0
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M MAI|BAE B (2ELXSINL/AH )
o9l SZEX E4 L RY(STXRELALSEEN) (Sl #)
SA-EH O (BH) - HBAY - B2 0] Ak 21 gggf; HRS2
Os3SEAAEZE 2R ]
5,000,000& 5,000
MPES(EMU)(ZELX AP /A SI]) 11,976,298 11,765,000 211,298
HEHHK S (EAIIESHIISELESIAH) 2,005,959 2,015,000 A9,041
=ESIEEYPIEREE 2,005,959 2,015,000 ~9,041
706 71 EFLH S 0 2 2,005,959 2,015,000 A9,041
03 =g3 2,005,959 2,015,000 ~9,041
Osadllgsd M2 2,005,959, 000& 2,005,959
B&8XE 85,500 0 85,500
=EH BX2 BtE2 85,500 0 85,500
802 BtEt=2 DI Et 85,500 0 85,500
01 22X Z6s=2 68,000 0 68,000
O dz S&=sA2 EHYZUEAIE
55,000,000& 55,000
O=dF =& 2L HAIE 13,000,000 13,000
02 Al - SHIEXZ2EE= 17,500 0 17,500
olgd ZE=NZ EHLZLEAIL
14,000,0002 14,000
OZ2d 2 &H BHLZLHAIE 3,500,000 3,500
LHEHAH K E (S22 ZLHALSELSIA) 9,884,839 9,750,000 134,839
S3HA 22012 HEg= 9,884,839 9,750,000 134,839
706 DI EFLH S H cH 9,884,839 9,750,000 134,839
03 g3 9,884,839 9,750,000 134,839
O=sZ2CHA 222 Hg2 9,884,839,000& 9,884,839
oidiEl(s2 X2 AFESE S H ) (oldId]/0lBlB]) 157,184 155, 104 2,080
03’||H7|Hl(%gxl?ig/ﬁgggimn 157,184 155,104 2,080
ol 1 dl 157,184 155,104 2,080
801 0il 5l bl 157,184 155,104 2,080
01 olgl bl 157,184 155,104 2,080
Ooldidl 157,184 ,000& 157,184
oldigl(SA0Ig=s4d0I12 S AH)(ol8lgl/0blg]) 31,875 36,585 A4 710
HHIB(SAIHSHII=2ELSA) 31,875 36,585 4,710
ol 18l 31,875 36,585 A4,710
801 0il 5l bl 31,875 36,585 A4, 710
01 olgl bl 31,875 36,585 N4, 710
ooldlgl 31,875,000& 31,875




